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327 20243 12€ 199 154 578 41%

15




202481 A% A = of| AH Al A

R 7323 (&1 39D
A
F4l A4 | AR | Wz U
i _ o Aol | o Abed | =7} E712()
A | Y | A | A A7HEAN 5 = = °H
(A =& A 1 15,0009 %10 42 600000
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3.37] 54 1,840 1,840 0
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1. ARG GA = 10,820 10,820 0
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1. k-89 6,720 6,720 0
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1. 0520 3,000 3,000 0
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6. SR FAI R WS FA Y 2,000 2,000 0
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3.35A 9 &9 26,253 25,953 300
1.5 489 2,131 2,131 0
1.0 4 1,870 1,870 0
191753 1,870 1,870 0
28589 261 261 0
1. 255G 261 261 0
2. ARG 24,122 23,822 300
1.8 wARsAY 24,122 23,822 300
1. 30590 14,080 14,080 0
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4,350 A 249,071| 249,071 0
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2. 1 FE TG 139,469 139,469 0
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1.8t 7% 41,621 42,221 -600
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